Henry VIII Archery Tournament
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Henry VIII was a keen archer and took part in many archery competitions.

Rules: 

You are given as many arrows as you need.  You are given a winning total to score. There is more than 1 way of making the winning total. The person who uses the fewest arrows is the winner. 

Can you work out how to make the winning totals with the fewest arrows?
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How many ways can you find?
What is the fewest arrows needed?

Winning Total: 35
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How many ways can you find?
What is the fewest arrows needed?

3

Winning Total: 37
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How many ways can you find?
What is the fewest arrows needed?

Winning Total: 58
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How many ways can you find?
What is the fewest arrows needed?
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Winning Total: 88
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How many ways can you find?
What is the fewest arrows needed?
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Winning Total: 96
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How many ways can you find?
What is the fewest arrows needed?

6

Winning Total: 100






